
1

Section 6

Mud Scrapers

                                                         
1 Janke (Australia) reserves the right to alter the pricing of any of its products without notice.





2

Price List for single Mudscraper
2152-XXX

Individual Components:

No. Part No. Description Qty.
1 1B21-81GB SET SCREW ZP 5/8" UNC x 1 1/2" 5
2 1N11-81G NUT ZP 5/8" UNC 7
3 1N21-81G LOCKNUT ZP 5/8" UNC 2
4 1W70-11G WASHER SPR MED ZP 5/8" 7
5 2101-012 DIAG CLAMP 90/100 RHS 5/8" HOLE 2
6 2152-203 SCRAPER BLADE - WIDELINE 1

                                                         
2 Janke (Australia) reserves the right to alter the pricing of any of its products without notice.





3

Price List for Dual Mudscraper
2152-XXX

Individual Components:

No. Part No. Description Qty.
1 1B11-81HU BOLT 3/4" UNC x 7 1/2" 4
2 1B21-81GB SET SCREW 5/8" x 1 1/2" UNC 10
3 1N11-81G NUT ZP 5/8" UNC 6
4 1N11-81H NUT ZP 3/4" UNC 4
5 1N21-81G LOCKNUT ZP 5/8" UNC 4
6 1W70-11G WASHER SPRING ME 5/8" 6
7 1W71-11H WASHER SPRING MED 3/4" 4
8 2101-121 CLAMP PLATES 2
9 2152-203 SCRAPER BLADE - WIDELINE 2

                                                         
3 Janke (Australia) reserves the right to alter the pricing of any of its products without notice.





4

Price List for Mud Scraper Assy.
2259-004

Individual Components:

No. Part No. Description Qty.
1 1B11-51A9 BOLT ZP 1/4 UNC X 1 1/4" 1
2 1B11-51E8 BOLT ZP 1/2 UNC X 1" 2
3 1B11-51CB BOLT ZP 3/8 UNC X 1 1/2" 2
4 1B11-51CD BOLT ZP 3/8 UNC X 2" 1
5 1N11-51E NUT ZP 1/2" UNC 2
6 1N31-51A NUT NYLOC ZP 1/4"UNC 1
7 1N31-51C NUT NYLOC ZP 3/8"UNC 3
8 1W70-11E WASHER SPRING ZP 1/2" 2
9 2259-101 EXTENSION BRACKET PW MUDSCRAPER 1

10 2259-102 MOUNTING ARM, PW MUDSCRAPER 1
11 2259-105 VEE BLADE REPLACEABLE TUNGSTEN TIPPED 1
12 2259-106 CLAMP WASHER 33OD X 10ID X 5mm 1
13 2259-107 BRACKET 30" U/F INFRAME 1
14 2259-109 CLAMP PL INFRAME 1
15 2259-110 BRACKET EXTENSION 30" U/F INFRAME       RED SQ BAR 1

                                                         
4 Janke (Australia) reserves the right to alter the pricing of any of its products without notice.







Price List for 24” Mud Scraper Assy.
2259-005

Individual Components:

No. Part No. Description Qty.
1 1B11-51E8 BOLT ZP 1/2 UNC X 1" 2
2 1N11-81E NUT ZP 1/2"UNC 2
3 1W70-11E WASHER SPRING MED ZP 1/2" 2
4 2259-108 BRACKET 24" U/F INFRAME 1
5 2259-109 CLAMP PL INFRAME 1
65 2259-111 24" MUD SCRAPER HANDED 1

                                                         
5 Janke (Australia) reserves the right to alter the pricing of any of its products without notice.


